

## Structural Theorem for Completely Simple $\Gamma$ -Semigroups and $\Gamma$ -Semigroups with a Completely Simple $\Gamma$ -Kernel \*

YANG Guo-wei

(Dept. of Math., Teachers' College of Qingdao University, Shandong 266071, China)

**Abstract:** We prove structural theorem for completely simple  $\Gamma$ -semigroups and semigroups with a completely simple  $\Gamma$ -kernel.

**Key words:** semigroup;  $\Gamma$ -semigroup; structural theorem.

**Classification:** AMS(2000) 20M/CLC O152.7

**Document code:** A     **Article ID:** 1000-341X(2002)01-0001-06

### 1. Introduction

Let  $M$  and  $\Gamma$  be two nonempty sets.  $M$  is called a  $\Gamma$ -semigroup if the following conditions are satisfied (1)  $(a\alpha b) \in M$  and  $\alpha \in \Gamma$ , (2)  $a\alpha b\beta c = a\alpha(b\beta c)$  for any  $a, b, c \in M, \alpha, \beta \in \Gamma$ . A right(left)  $\Gamma$ -ideal of a  $\Gamma$ -semigroup is a nonempty subset  $I$  of  $M$  such that  $ITM \subseteq I(M\Gamma I \subseteq I)$ . If  $I$  is both right and left  $\Gamma$ -ideal, then we call  $I$  is a  $\Gamma$ -ideal of  $M$ . A  $\Gamma$ -semigroup  $M$  is called a  $\Gamma$ -semigroup with a completely simple  $\Gamma$ -kernel  $I$  if  $M$  has a completely simple  $\Gamma$ -ideal  $I$ . An element of a  $\Gamma$ -semigroup  $M$  is called a  $\alpha$ -idempotent if  $e\alpha e = e$  for  $\alpha \in \Gamma$ . Let  $E$  be the set of all idempotents of  $\Gamma$ -semigroup  $M$ . We define the partial order relation  $\omega$  on  $E$  by  $e\omega f$  if and only if  $(\alpha, \beta \in \Gamma)(e\alpha e = e, f\beta f = f, e = e\alpha f = f\beta e)$ . Define  $a.b$  in  $M$  by  $a.b = a\alpha b$  for  $a, b \in M$ , then  $M$  is a semigroup. Denote this semigroup by  $M_\alpha$  and call it the interrelated semigroup of  $M$ . Let  $M_1$  be a  $\Gamma_1$ -semigroup and  $M_2$  be a  $\Gamma_2$ -semigroup. A pair of mappings  $f_1: M_1 \rightarrow M_2$  and  $f_2: \Gamma_1 \rightarrow \Gamma_2$  is said to be a homomorphism from  $(M_1, \Gamma_1)$  to  $(M_2, \Gamma_2)$ , if  $(a\alpha b)f_1 = (af_1)(\alpha f_2)(bf_1)$  for all  $a, b \in M_1$ , and  $\alpha \in \Gamma_1$ . If  $f_1$  and  $f_2$  are both bijections then  $(f_1, f_2)$  is said to be an isomorphism of  $(M_1, \Gamma_1)$  onto  $(M_2, \Gamma_2)$ .

Let  $G$  be a group and  $I, \Lambda$  be index sets and  $\Gamma$  be the collection of some  $\Lambda \times I$  matrices over  $G^0$ , the group with zero. Let  $\mu^0$  be the set of elements  $(a)_{i\lambda}$  where  $i \in I, \lambda \in \Lambda$  and  $(a)_{i\lambda}$  is the  $I \times \Lambda$  matrix over  $G^0$  having  $a$  in the  $i$ -th row and  $\lambda$ -th column, its remaining entries being zero. The expression  $(o)_{i\lambda}$  will be used to denote  $I \times \Lambda$  zero matrix. for any  $(a)_{i\lambda}, (b)_{j\mu}, (c)_{k\gamma} \in \mu^0$ . Then it is easy to verify that

$$[(a)_{i\lambda}\alpha(b)_{jk}]\beta(c)_{k\gamma} = (a)_{i\lambda}\alpha[(b)_{j\mu}\beta(c)_{k\gamma}].$$

\*Received date: 1998-11-03

Foundation item: Supported by the National Natural Science Foundation of China (79270079)

Biography: YANG Guo-wei (1965- ), male, professor, doctoral student.

Thus  $\mu^0$  is a  $\Gamma$ -semigroup.

We shall call  $\Gamma$  the sandwich matrix set and  $\mu^0$  Rees  $I \times \Lambda$  matrix  $\Gamma$ -semigroups over  $G^0$  with sandwich matrix set  $\Gamma$  and denote it by  $\mu^0(G : I, \Lambda; \Gamma)$ . Sandwich matrix set  $\Gamma$  is called regular if for each row  $i \in I$  there exists a matrix  $\alpha = (p_{\mu i}^\alpha) \in \Gamma$  and for each column  $\lambda \in \Lambda$  there exists a matrix  $\beta = (q_{\lambda i}^\beta) \in \Gamma$  such that  $\lambda = (p_{\mu i}^\alpha)$  has at least one nonzero entry in  $i$ -th row and  $\beta = (q_{\lambda i}^\beta)$  has at least non-zero entry in  $\lambda$ -th column, then  $\mu^0(G : I, \Lambda; \Gamma)$  is called a regular Rees  $I \times \Lambda$  matrix  $\Gamma$ -semigroup and it is denoted by  $\mu^0[G : I, \Lambda; \Gamma]$ . Let  $\mu[G : I, \Lambda; \Gamma]$  be the set of all elements  $(a)_{i\lambda}$  where  $i \in I, \lambda \in \Lambda$  and  $(a)_{i\lambda}$  is the  $I \times \Lambda$  matrix over  $G$  and  $\Gamma$  be the collection of some  $\Lambda \times I$  matrix over  $G$ , then  $\mu[G : I, \Lambda; \Gamma]$  is a completely simple  $\Gamma$ -semigroup. It is clear that the inter-related semigroup  $\mu^0[G : I, \Lambda; \Gamma]_\alpha$  of  $\mu^0[G : I, \Lambda; \Gamma]$  may be not a completely 0-simple semigroup. In 1989, Seth.A. shown in [1] that a  $\Gamma$ -semigroup is a completely 0-simple  $\Gamma$ -semigroup if and only if it is isomorphic with a  $\mu^0[G : I, \Lambda; \Gamma]$ . In this paper we first prove that a  $\Gamma$ -semigroup is completely simple if only if it is isomorphic with a  $\mu[G : I, \Lambda; \Gamma]$ , then we give a structural theorem for semigroups with a completely simple  $\Gamma$ -kernel. Unless otherwise defined our notations will follow that of [1-4].

## 2. Main result

**Lemma 2.1**<sup>[3]</sup> *Let  $M$  be a  $\Gamma$ -semigroup. Then the following conditions are equivalent:*

- (1)  $M$  is a completely simple  $\Gamma$ -semigroup;
- (2)  $M_\alpha$  is completely simple for any  $\alpha \in \Gamma$ ;
- (3)  $M_\alpha$  is completely simple for some  $\alpha \in \Gamma$ ;
- (4)  $M_\alpha$  is regular and every idempotent of  $M_\alpha$  is minimal for some  $\alpha \in \Gamma$ .

**Theorem 2.2** *A  $\Gamma$ -semigroup is completely simple if and only if it is isomorphic to a  $\mu[G : I, \Lambda; \Gamma]$ .*

Let  $M$  be a completely simple  $\Gamma$ -semigroup. Then  $M \cup 0$  is a completely 0-simple  $\Gamma$ -semigroup where  $0\alpha M = 0$  for any  $\alpha \in \Gamma$ . By the Rees theorem for  $\Gamma$ -semigroups in [1] and for semigroup in [5] and the Lemma 2.1, it is not hard to obtain the results of theorem 2.2.

Let  $M$  be a nonempty set and  $\Gamma$  be a set of operations defined on  $M$ .  $M$  is called a partial  $\Gamma$ -semigroup if  $x\alpha(y\beta z) = (x\alpha y)\beta z$  for any  $x, y, z \in M$  and  $\alpha, \beta \in \Gamma$ .

Let  $\mu[G : I, \Lambda; \Gamma]$  be a Rees matrix  $\Gamma$ -semigroups over a group  $G$ , and  $M$  be a partial  $\Gamma'$ -semigroup such that  $G \times I \times \Lambda \cap M = \varphi$ , where there exists a bijection  $\psi : \alpha \rightarrow \alpha'$  from  $\Gamma$  onto  $\Gamma'$ .

Let  $\xi^\alpha : p \rightarrow \xi_p^\alpha$  be a mapping from  $M$  into the semigroup  $T(I)$  of all the mappings of  $I$  into itself, and  $\eta^\alpha : p \rightarrow \eta_p^\alpha$  be a mapping from  $M$  into the semigroup  $T(\Lambda)$  of all the mappings of  $\Lambda$  into itself where  $\alpha \in \Gamma, p, q \in M$ .

- (i) If  $p\alpha'q \in M$ , then  $\xi_{p\alpha'q}^\beta = \xi_q^\beta \xi_p^\alpha$  and  $\eta_{p\alpha'q}^\beta = \eta_p^\beta \eta_q^\alpha$  for any  $\beta \in \Gamma$ .
- (ii) If  $p\alpha'q \in M$ , then  $\xi_q^\alpha \xi_p^\alpha = \xi_q^\beta \xi_p^\alpha = \text{const}$  and  $\eta_p^\beta \eta_q^\alpha = \eta_p^\alpha \eta_q^\alpha = \text{const}$  for any  $\beta \in \Gamma$ .  
Again, let  $\varphi_\alpha : M \times I \rightarrow G$  be a mapping for  $\alpha \in \Gamma$  such that
- (iii) If  $p\alpha'q \in M$ , then  $\varphi_\beta(p\alpha'q, i) = \varphi_\alpha(p, i\xi_q^\beta)\varphi_\beta(q, i)$  for any  $\beta \in \Gamma$ .
- (iv)  $p_{\lambda i \xi_p^\alpha}^\alpha \varphi_\beta(p, i)(p_{\lambda \eta_q^\beta}^\beta)^{-1}$  does not depend on  $i$  and  $\beta$ .

The term from (iv) is denote by  $\Psi_\alpha(p, \lambda)$ .

Let us define a multiplication set  $\Gamma''$  on  $\Sigma = G \times I \times \wedge \cup M$  with

(1) There exists a bijection  $\psi_2 : \alpha'' \rightarrow \alpha$  from  $\Gamma''$  onto  $\Gamma$  (there exists a bijection  $\psi'_2 : \alpha'' \rightarrow \alpha'$  from  $\Gamma''$  onto  $\Gamma'$ , too)

(2)  $(a; i, \lambda)\alpha''(b; j, \mu) = (a; i, \lambda)\alpha(b; j, \mu) = (ap_{\lambda_j}^\alpha; b; i, \mu)$  for  $(a; i, \lambda), (b; j, \mu) \in G \times I \times \wedge$ .

(3)  $p\alpha''(a; i, \lambda) = (\varphi_\alpha(p, i)a; i\xi_p^\alpha, \lambda)$  for  $p \in M$  and  $(a; i, \lambda) \in G \times I \times \wedge$ .

(4)  $(a; i, \lambda)\alpha'p = (a\Psi_\alpha(p, \lambda); i, \lambda\eta_p)$  for  $p \in M$  and  $(a; i, \lambda) \in G \times I \times \wedge$ .

(5) If  $p\alpha'q \in M$ , then  $p\alpha'q = p\alpha'q \in \Sigma = G \times I \times \wedge \cup M$  for  $p, q \in M$ .

(6) If  $p\alpha'q \in M$ , then  $p\alpha'q = (\varphi_\alpha(p, i\xi_q^\alpha)\varphi_\alpha(q, i)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\alpha)^{-1}; i\xi_q^\alpha\xi_p^\alpha, \lambda\eta_p^\alpha\eta_q^\alpha)$ , for  $p, q \in M$  and  $i \in M$  and  $i \in I, \lambda \in \wedge$ .

We will denote  $\Sigma$  with a multiplication set  $\Gamma''$  by  $\mu[G : I, \wedge; \Gamma'']$ .

**Theorem 2.3**  $\mu[G : I, \wedge; \Gamma''; M, \varphi, \Psi, \xi, \eta]$  is a  $\Gamma''$ -semigroup with a completely simple  $\Gamma''$ -kernel  $\mu[G : I, \wedge; \Gamma'']$ .

**Proof** It is obvious that  $a\alpha''b \in \mu[G : I, \wedge; \Gamma'', M, \varphi, \Psi, \eta]$  for any  $a, b \in \mu[G : I, \wedge; \Gamma'', M, \varphi, \Psi, \eta]$  and  $\alpha'' \in \Gamma$ . By (2) and (5) we can get  $(a\alpha''b)\beta''c = a\alpha''(b\beta''c)$  on  $M$ , or  $G \times I \times \wedge$ .

Let  $p, q \in M, (a; i, \lambda), (b; j, \mu) \in G \times T \times \wedge$ , and  $\alpha'', \beta'' \in \Gamma''$ . Then by (3) and (2) we have

$$[p\alpha''(a; i, \lambda)]\beta''(b; j, \mu) = \cdots = (\varphi_\alpha(p, i)ap_{\lambda_j}^\beta; b; i\xi_p^\alpha, \mu).$$

By (4) and (2) we can obtain

$$[(a; i, \lambda)\alpha''(b; j, \mu)]\beta''p = (ap_{\lambda_j}^\alpha; b; i, \mu)\beta''p = \cdots = (ap_{\lambda_j}^\alpha; b\Psi_\beta(p, \mu); i, \mu\eta_p^\beta).$$

i.e.,  $[(a; i, \lambda)\alpha''(b; j, \mu)]\beta''p = (a; i, \lambda)\alpha''[(b; j, \mu)\beta''p]$ . By (3), (4) and (2) we have that

$$[(a; i, \lambda)\alpha'']\beta''(b; j, \mu) = (a\Psi_\alpha(p, i); i, \lambda\eta_p^\alpha)\beta''(b; j, \mu) = \cdots = (a\Psi_{p\lambda})p_{\lambda\eta_p^\alpha}^\beta; b; i, \mu)$$

i.e.,  $[(a; i, \lambda)\alpha'']\beta''(b; j, \mu) = (a; i, \lambda)\alpha''[p\beta''(b; j, \mu)]$ . Similarly, we have

$$[p\alpha''(a; i, \lambda)]\beta''q = p\alpha''[(a; i, \lambda)\beta''q].$$

Let  $p, q \in M, p\alpha''q \in M, \alpha'', \beta'' \in \Gamma$  and  $x = (a; i, j)$ . Then by (i), (iii) and (3) we get

$$[p\alpha''q]\beta''x = (p\alpha'q)\beta(a; i, j) = \cdots = (\varphi_\alpha(p, i\xi_q^\beta)\varphi_\beta(q, i)a; i\xi_p^\beta\xi_p^\alpha, j)$$

i.e.,  $[p\alpha''q]\beta''x = p\alpha''[q\beta''x]$ . It follows from (ii), (iii), (iv) and (4) that

$$x\beta''(p\alpha''q) = (a; i, j)\beta''(p\alpha'q) = \cdots = (a\Psi_\beta(p, j)\Psi_\alpha(q, j\eta_p^\beta; i, j\eta_p^\beta\eta_q^\alpha),$$

$$[x\beta''p]\alpha''q = [(a; i, j)\beta''p]\alpha''q = (a\Psi_\beta(p, j)\Psi_\alpha(q, j\eta_p^\beta; i, j\eta_p^\beta\eta_q^\alpha),$$

i.e.,  $x\beta''(p\alpha''q) = \Psi_\beta(p, j)\Psi_\alpha(q, j\eta_p^\beta)$ . Let  $p, q \in M, p\alpha''q \in M$  and  $(x; k, l) \in G \times I \times \wedge$ . In this case

$$\xi_q^\alpha\xi_p^\alpha = \xi_q^\alpha\xi_p^\alpha = \text{const}, \quad \eta_p^\beta\eta_q^\alpha = \eta_p^\alpha\eta_q^\alpha = \text{const}.$$

for any  $\beta \in \Gamma$ . It remains to prove that  $\varphi_\alpha(p, k\xi_q^\beta)\varphi_\beta(q, k)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\beta)^{-1}$  does not depend on  $k$  and  $\beta \in \Gamma$ , and

$$\varphi_\alpha(p, k\xi_q^\beta)\varphi_\beta(q, k)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\beta)^{-1} = \cdots = (p_{\lambda k\xi_q^\beta\xi_p^\alpha}^\alpha)^{-1}\Psi_\alpha(p, \lambda)\Psi_\alpha(q, \lambda\eta_p^\alpha).$$

Since  $k\xi_q^\beta\xi_p^\alpha(\xi_q^\beta\xi_p^\alpha = \text{const})$  and  $\Psi_\alpha(p, \alpha)\Psi_\alpha(q, \alpha\eta_p^\alpha)$  not depend on  $k$  and  $\beta$ , it follows that  $\varphi_\alpha(p, k\xi_q^\beta)\varphi_\beta(q, k)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\beta)^{-1}$  does not depend on  $k$  and  $\beta$ , too. Hence

$$\varphi_\alpha(p, k\xi_q^\beta)\varphi_\beta(q, k)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\beta)^{-1} = \varphi_\alpha(p, i\xi_q^\alpha)\varphi_\alpha(q, k)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\alpha)^{-1}.$$

By (6) and the above equality we have

$$p[\alpha''q]\beta''(x; k, l) = \cdots = (\varphi_\alpha(p, k\xi_q^\beta)\varphi_\beta(q, k)x; i\xi_p^\alpha\xi_q^\alpha, l).$$

On the other hand

$$p\alpha''[q\beta''(x; k, l)]p\alpha''(\varphi_\beta(q, k)x; k\xi_q^\beta, l) = (\varphi_\alpha(p, k\xi_p^\beta)\varphi_\beta(q, k)x; k\xi_q^\beta\xi_p^\alpha, l),$$

$$i\xi_q^\alpha\xi_p^\alpha = k\xi_q^\beta\xi_p^\alpha.$$

Thus  $[p\alpha''q]\beta''(x; k, l) = p\alpha''[q\beta''(x; k, l)]$ . Again since

$$(x; k, l)\beta''[p\alpha''q] = (x; k, l)\beta''(\varphi_\alpha(p, i\xi_q^\alpha)\varphi_\alpha(q, i)(p_{\lambda\eta_p^\alpha\eta_q^\alpha}^\alpha)^{-1}; i\xi_q^\alpha\xi_p^\alpha, \lambda\eta_p^\alpha\eta_q^\alpha)$$

$$= \cdots = (x\Psi_\beta(p, l)\Psi_\alpha(q, l\eta_p^\beta); k, \lambda\eta_p^\alpha\eta_q^\alpha),$$

and

$$[(x; k, l)\beta''p]\alpha''q = (x\Psi_\beta(p, l); k, l\eta_p^\beta)\alpha''q = (x\Psi_\beta(p, l)\Psi(q, l\eta_p^\beta); k, l\eta_p^\alpha\eta_q^\alpha).$$

It is clear that  $\mu[G : I, \wedge; \Gamma''; M, \varphi, \Psi, \xi, \eta]$  is a  $\Gamma''$ -semigroups. But it is clear that

$$\mu[G : I, \wedge; \Gamma''; M, \varphi, \Psi, \xi, \eta]$$

has a completely simple  $\Gamma$ -kernel  $\mu[G : I, \wedge; \Gamma]$ .

**Theorem 2.4** A  $\Gamma$ -semigroup  $S$  has a  $\Gamma$ -ideal which is a completely simple  $\Gamma$  subsemigroup of  $S$  if and only if  $S$  is isomorphic to some  $\mu[G : I, \wedge; \Gamma''; M, \varphi, \Psi, \xi, \eta]$ .

**Proof** Let a  $\Gamma$ -semigroup  $S$  have a  $\Gamma$ -ideal  $k$  which is a completely simple semigroup. Then  $M = S \setminus K$  is a partial  $\Gamma$ -semigroup such that  $S = K \cup M \cong \mu[G : I, \wedge; \Gamma] \cup M$  ( $K$  is isomorphic to  $\mu[G : I, \wedge; \Gamma]$  by theorem 2.4).

Let  $p \in M, (1; i, l) \in K$  and  $\alpha, \beta \in \Gamma$ . We have

$$p\alpha(1; i, l) = (g; k, s) \in K$$

where  $g = \varphi_\alpha(p; i, l), k = i\xi_{p,l}^\alpha, s = l\eta_{p,i}^\alpha$ . So

$$(\varphi_\alpha(p; i, l); i\xi_{p,l}^\alpha, l\eta_{p,i}^\alpha) = p\alpha[(1; i, l)\alpha((p_{ik}^\alpha)^{-1}; k, l)] = \cdots$$

$$= (\varphi_\alpha(p; i, l)p_{i\eta_p}^\alpha(p_{ik}^\alpha)^{-1}; i\xi_{p,l}^\alpha, l).$$

Hence  $l\eta_{p,i} = l$ , so that  $p\alpha(1; i, l) = (\varphi_\alpha(p; i, l); i\xi_{p,l}^\alpha, l)$ .

Furthermore  $(\varphi_\alpha(p; i, \lambda); i\xi_{p,\lambda}^\alpha, \lambda) = \cdots = (\varphi_\alpha(p; i, l); i\xi_{p,l}^\alpha, \lambda)$ . Thus  $\varphi_\alpha(p; i, \lambda) = \varphi_\alpha(p; i, l)$ , i.e.,  $\varphi$  does not depend on  $\lambda \in \Lambda$  and  $i\xi_{p,\lambda}^\alpha = i\xi_{p,l}^\alpha$ , i.e.,  $\xi$  does not depend on  $\lambda \in \Lambda$ . Hence  $p\alpha(1; i, \lambda) = (\varphi_\alpha; i\xi_p^\alpha, \lambda)$ , where  $\varphi : M \times I \rightarrow G$  and  $\xi_p^\alpha : I \rightarrow I$ . Similarly

$$(1; i, \lambda)\alpha p = (\Psi_\alpha(p, \lambda); i, \lambda\eta_p^\alpha),$$

where  $\Psi_\alpha : M \times \Lambda \rightarrow G$ , and  $\eta_p^\alpha : \Lambda \rightarrow \Lambda$ . Since  $[(1; i, \lambda)\alpha p]\beta(1; i, \lambda) = \cdots = (p_{\lambda i \xi_p^\alpha}^\alpha \varphi_\beta(p, i); i, \lambda)$ , so  $\Psi_\alpha(p, \lambda)p_{\lambda \eta_p^\alpha}^\beta = p_{\lambda i \xi_p^\alpha}^\alpha \psi_\beta(p, i)$ , i.e.,  $\Psi_\alpha(p, \lambda) = p_{\lambda i \xi_p^\alpha}^\alpha \varphi_\alpha(p, i)(p_{\lambda \eta_p^\alpha}^\beta)^{-1}$ . And the term  $p_{\lambda i \xi_p^\alpha}^\alpha \varphi_\beta(p, i)(p_{\lambda \eta_p^\alpha}^\beta)^{-1}$  does not depend on  $i$  and  $\beta$ . For  $p \in M, (g; i, \lambda) \in K$  and  $\alpha \in \Gamma$ , we obtain that

$$p\alpha(g; i, \lambda) = \cdots = (\varphi_\alpha(p, i)p_{li}^\alpha(p_{li}^\alpha)^{-1}g; i\xi_p^\alpha, \lambda)$$

and

$$(g; i, \lambda)\alpha p = (g\Psi_\alpha(p, \lambda); i, \lambda\eta_p^\alpha).$$

Let  $p, q \in M; p\alpha q \in M$  and  $\lambda, \beta \in \Gamma$ , we have that

$$(p\alpha q)\beta(1; i, \lambda) = \cdots = (\varphi_\alpha(p, i\xi_q^\alpha)\varphi_\beta(q, i); i\xi_p^\alpha \xi_q^\beta, \lambda)$$

i.e.,

$$\varphi_\beta(p\alpha q, i) = \varphi_\alpha(p, i\xi_q^\alpha)\varphi_\beta(q, i), i\xi_{p\alpha q}^\alpha = i\xi_q^\beta \xi_p^\alpha.$$

Similarly

$$(1; i, \lambda)\beta(p\alpha q) = \cdots = (\Psi_\beta(p, \lambda)\Psi_\alpha(q, \lambda\eta_p^\beta); i, \lambda\eta_p^\beta \eta_q^\alpha).$$

Then

$$\Psi_\beta(p\alpha q, \lambda) = \Psi_\beta(p, \lambda)\Psi_\alpha(q, \lambda\eta_p^\beta)$$

and  $\lambda\eta_{p\alpha q}^\beta = \lambda\eta_p^\beta \eta_q^\alpha$ . Again, for  $p, q \in M, p\alpha q \in M$  and  $\alpha, \beta \in \Gamma$ , we have

$$\begin{aligned} p\alpha q &= (q; i, \lambda) = (g; i, \lambda)\alpha((p_{\lambda k}^\alpha)^{-1}; k, \lambda) = \cdots \\ &= (\varphi_\alpha(p, k\xi_q^\alpha)\varphi_\alpha(q, k)(p_{\lambda k}^\alpha)^{-1}; k\xi_q^\alpha \xi_p^\alpha, \lambda). \end{aligned}$$

On the other hand

$$\begin{aligned} p\alpha q &= (g; i, \lambda) = (g; i, \lambda)\beta((p_{\lambda k}^\beta)^{-1}; k, \lambda) = \cdots \\ &= (\varphi_\alpha(p, k\xi_q^\beta)\varphi_\beta(q, k)(p_{\lambda k}^\beta)^{-1}; k\xi_q^\beta \xi_p^\alpha, \lambda), \end{aligned}$$

$$p\alpha q = (g; i, \lambda) = ((p_{li}^\beta)^{-1}; i, l)\beta[p\alpha q] = ((p_{li}^\beta)^{-1}\Psi_\beta(p, l)\Psi_\alpha(q, l\eta_p^\beta); i, l\eta_p^\beta \eta_q^\alpha).$$

Thus  $\xi_q^\alpha \xi_p^\alpha = \xi_q^\beta \xi_p^\alpha, \eta_p^\alpha \eta_q^\alpha = \eta_p^\beta \eta_q^\alpha$ . From this we conclude that

$$g = \varphi_\alpha(p, k\xi_q^\alpha)\varphi_\alpha(q, k)(p_{\lambda k}^\alpha)^{-1} = (p_{li}^\alpha)^{-1}\Psi_\alpha(p, l)\Psi_\alpha(q, l\eta_p^\alpha)$$

$$i = k\xi_q^\alpha \xi_p^\alpha, \quad \lambda = \eta_p^\beta \eta_q^\alpha.$$

We have  $\xi_q^\alpha \xi_p^\alpha = \text{const} = \xi_q^\beta \xi_p^\alpha, \eta_p^\alpha \eta_q^\alpha = \text{const} = \eta_p^\beta \eta_q^\alpha$  and  $g$  does not depend on  $k$  and  $l$ . Therefore

$$p\alpha q = (\varphi_\alpha(p, i\xi_p^\alpha)\varphi_\alpha(q, i)(p\lambda_{\eta_p^\alpha \eta_q^\alpha}^\alpha)^{-1}; i\xi_p^\alpha \xi_q^\alpha, \lambda\eta_p^\alpha \eta_q^\alpha).$$

So

$$S \cong \mu[G : I; \Gamma; M; \varphi, \Psi, \xi, \eta].$$

The other part of the result follows from Theorem 2.3.

**Acknowledgement** The author of this paper express his earnest gratitude to Prof. Guo Yuqi for his guidance throughout the preparation of this paper.

## References:

- [1] SETH A. Rees' Theorem for  $\Gamma$ -semigroup [J]. Bull. Cal. Math. Soc., 1989, 81: 217-226.
- [2] YANG Guo-wei, CHU Ping. Congruences and the lattice of Congruences on a Completely  $\theta$ -simple  $\Gamma$ -semigroup [J]. Soochow Journal of Mathematics, 1994, 3: 335-350.
- [3] YANG Guo-wei. The Inter-relation semigroups in a  $\Gamma$ -semigroup [J]. The Southeast Asian Bulletin of Mathematics, 1996, 2: 123-126.
- [4] YANG Guo-wei, WANG Zhi-hua. Congruence on  $\Gamma$ -regular semigroup [J]. Bull. Cal. Math. Soc., 1995, 87: 527-538.
- [5] HOWIE J M. An Introduction to Semigroup Theory [M]. Academic Press, London, New York and San Francisco, 1976.

## 完全单 $\Gamma$ -半群的结构定理和具有完全单 $\Gamma$ -核的半群的结构定理

杨 国 为

(青岛大学师范学院, 山东 青岛 266071)

**摘 要:** 本文给出了完全单  $\Gamma$ -半群的结构定理和具有完全单  $\Gamma$ -核的半群的结构定理.